Qv e R0 7 A2 1

AsH sAEL 5.9&%! FIHh!
A} ollM: Alw_/_/_
(Qenelle] otin: Ad ololR;
Aatsel udl: AH2A: 30 AR $e 9LRL: 20 QL
Yal.1 () AL [Ascu uie 53 satol 3l [05]
(1) =F: T faewfare
(A) R (B) Afl
(C) fo=nes sl (D) A AsURL o8l

(2) YRl ELQU 2AGE] sl 58l
(A) Tgar=e, (B) wT=feaH,
(C) ereqar=m, (D) ur=
(3) "AaTYaUE WA ?
(A) Hlcdl-Qcl &2 (B) Hld-0q
(C) Hlcl-Mcdl A8l otell (D) HZ- dIR
(4) Tge FE Aed ¢?

(A) [Qaua i€l (B) [Qaumn usiam
(C) Qaun A (D) [Qaua st

(5) 'awaw A2d 9j?
(A) W (B) A0¢

(C) Wd (D) AN




Qv e R0 7 A2 1

AsH sUEL 5.92%h! dHh!

U1 (o) oflA 2 viell ot YRl [05]

(1) R TS | (|:, )

QUATHNTHgRTR | (R4, T)
(3)____ ue s (F, FREa)
(4) TNSF TESA? (Fid, )
(5) & TSI | (TEH, )
U 2() o{lA UUEL SOl ollH ARSAML AUl [03]
1| dRo -
2 | Y%l -
3 33 -
U 2(6) ol WAL AR AsElotl A oAl AWl [02]
fert: -
qied -
Y33 ol B (BAUELAL 2 AL [03]
1 | feEd -
2 | SR -
3 |emd-
Y3L.3(0L) ol AL 26ENL (ARAL[ 28] AUl [02]
1 ’aﬂz X

2 | HgTx




